Financial Accounting & Accounting Standards
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1- Essential characteristics of accounting are: (1) the identification, measurements,
and communication of financial information about (2) economic entities to (3)
interested parties.
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2- Financial accounting is the process that culminates in the preparation of financial

reports on the enterprise for the use by both internal and external parties.
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3- The main financial statements are: (1) the balance sheet, (2) the income statement,

(3) the statement of cash flows, and (4) the statement of stockholders equity.
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4- The challenges facing financial accounting are: (1) Nonfinancial measurements,
such as customer satisfaction (2) Forward-looking information, (3) Soft assets
(intangibles), and (4) Timeliness.
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Conceptual Framework
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1- A conceptual framework is like constitution that leads the accounting system.
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2- The conceptual framework is made of three levels:
Level (1) Objectives of financial reporting
Level (2): (A) Qualitative characteristics of accounting information and (B) Elements
of financial statements.
Level (3): Recognition and measurement concepts: (Assumptions, Principles, and
Constraints).
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Level (1) Objectives of financial statements
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Objectives of financial reporting are to provide information that is: (1) useful to
those making investment and credit decisions, (2) helpful to present and potential
investors, creditors, and other users in assessing the amounts, timing, and uncertainty of
future cash flows, and (3) about economic resources, the claims to those resources and the
changes in them.
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Level (2) (A) Qualitative characteristics of accounting information
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1- Decision makers and their characteristics (Understandability)

2- Constraints: (1) Cost < Benefits, and (2) Materiality
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3- Primary qualities: (1) Relevance, and (2) Reliability
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4- Ingredients of primary qualities: (1) Relevance (a- predictive value, b- feedback
value, and c- timeliness), and (2) Reliability (a- verifiability, b- representational
faithfulness, and c- neutrality)
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5- Secondary qualities: (1) comparability, and (2) consistency
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Level (2) (B) Elements of financial statements
agllall all g1l palie (@) AU 5 gial)

Assets: probable future economic benefits obtained or controlled by a particular entity
as a result of past transactions or events
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Liabilities: probable future sacrifices of economic benefits arising from present

obligations of a particular entity to transfer assets or providing services to other

entities as a result of past transactions or events
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Equity: residual interest in the assets of an entity that remains after deducting its

liabilities. In a business enterprise, the equity is the ownership interest.
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Revenues: inflows or other enhancements of assets of an entity or settlement of
liabilities (or a combination of both) during a period from delivering or producing
goods, rendering services, or activities that constitute the entity ongoing major or
control operations.
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Expenses: outflows or other using up of assets or incurrence of liabilities (or a

combination of both) during a period from delivering or producing goods, rendering

services, or carrying out other activities that constitute the entity ongoing major or

control operations.
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Gains: increases in equity (net assets) from peripheral or incidental transactions of an

entity during a period except those that result from revenues or investments by

owners.
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Losses: decreases in equity (net assets) from peripheral or incidental transactions of an
entity and from all other transactions and other events and circumstances affecting the
entity during a period except those that result from expenses or distribution to owners.
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Level (3) Recognition and Measurement Concepts
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A- Basic Assumptions (dsta) o2 g ill)

1- Economic Entity Assumption means that economic activity can be identified with a

particular unit of accountability.
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Going Concern Assumption means that the business enterprise will have long life.
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Monetary Unit Assumption means that money is the common denominator of

economic activity and provides an appropriate basis for accounting measurement and

analysis.
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Periodicity Assumption means that the economic activities of an enterprise can be

divided into artificial time periods.
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B- Basic Principles of Accounting (Axts) &ulaal) (ska)

Historical Cost Principle means that most assets and liabilities to be accounted for

and reported on the basis of acquisition price.
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Revenue Recognition Principle means that revenue should be recognized when (1)
realized or realizable and (2) when earned.
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Al
- Revenues are Realized when products (goods or services), merchandise, or other
assets are exchanged for cash or claims to cash.
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Al
- Revenues are realizable when assets received or held are ready convertible into cash or
claims to cash.
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- Revenues are considered earned when the entity has substantially accomplished what
it must do to be entitled to the benefits represented by the revenues.
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Ways of revenue recognition (c.d sty s 8y Oz @ b

Recognition at the time of sale provides a uniform and reasonable test.
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During production: Recognition of revenue is allowed before the contract is
completed in certain long-term construction contracts.
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End of production: revenue might be recognized after the production has ended but
before the sale takes place.
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Receipt of cash: its used only when its impossible to establish the revenue figure at
the time of sale because of the uncertainty of collection.
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Matching Principle dictates that efforts (expenses) be matched with accomplishment

(revenues) whenever it is reasonable and practicable to do so.
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Full disclosure Principle recognizes that the nature and amount of information
included in financial reports reflects a series of judgmental trade-offs. These trade-offs
strive for (1) sufficient detail to disclose maters that makes a difference to users, yet
(2) sufficient condensation to make the information understandable, keeping in mind
costs of preparing and using it. Information about financial position, income, cash
flows, and investments can be found in one of the following three places: (1) financial
statements, (2) notes to the financial statements, and (3) supplementary information.
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Constraints (2:28-&laaaal)

Cost-Benefit Relationship means that the cost of providing the information must be

weighted against the benefits that can be derived from using the information.
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Materiality relates to an items impact on a firms overall financial operations. An
item is material if its inclusion or omission would influence or change the judgment of
a reasonable person. It is immaterial and, therefore, irrelevant if it would have no
Impact on decision-maker.
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Industry Practices means the peculiar nature of some industries and business
concerns sometimes requires departure from basic theory.
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4- Conservatism means when in doubt choose the solution that will be least likely to

overstate assets and income.
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(1) Basic Terminology: 4w cilalhaal)
Event: A happening of consequence. An event generally is the source or cause of
changes in assets, liabilities, and equity. Events may be external or internal.
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Transaction: An external event involving a transfer or exchange between two or more
entries.
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Account: A systematic arrangement that shows the effect of transactions and other
events on a specific element (asset, liability, and so on). Companies keep a separate
account for each asset, liability, revenue, and expenses, and for capital (owners'
equity).
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Real and Nominal Accounts: Real (permanent) accounts are assets, liabilities, and
equity accounts; they appear on the balance sheet. Nominal (temporary) accounts are
revenue, expenses, and dividend accounts; except for dividends, they appear on the
income statement. Companies periodically close nominal accounts; they do not close
real accounts.
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Ledger: The book (or computer printouts) containing the accounts. A general ledger is
a collection of all assets, liabilities, owners' equity, revenue, and expenses accounts. A
subsidiary ledger contains the details related to a given general ledger account.
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Journal: The "book of original entry” where the company initially records transactions
and selected other events. Various amounts are transferred from the book of original
entry, the journal to the ledger.
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Posting: the process of transferring the essential facts and figures from the book of
original entry to the ledger accounts.
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Trial balance: the list of open accounts in the ledger and their balances. The trial
balance taken immediately after all adjustments have been posted is called the
adjusted trial balance. A trial balance taken immediately after closing entries have
been posted is called a post-closing or after closing trial balance. Companies may
prepare a trial balance at any time.
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9- Adjusting entries: Entries made at the end of the accounting period to bring all
accounts up to date on an accrual basis, so that the company can prepare correct
financial statements.
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10- Financial statements: Statements that reflect the collection, tabulation, and final
summarization of the accounting data. Four statements are involved: (1) the balance
sheet shows the financial condition of the enterprise at the end of a period. (2) Income
statement measures the results of operations during the period. (3) the statement of
cash flow reports the cash provided and used by operating, investing, and financing
activities during the period. (4) The statement of retained earnings reconciles the
balance of retained earnings account from the beginning to the end of the period.
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11- Closing entries: The formal process by which the enterprise reduce all nominal
accounts to zero and determines and transfer the net income or net loss to an owners'
equity account. Also known as “closing the ledger”, "closing the books" or merely
"closing".
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(2) Important points to be remembered: JLisY) (pas a5 &) g daga Bl
1- Accounting system is a way to translate events via transactions into numerical figures
in the accounting records.
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2- Accounting works with two main basis (cash and accruals)
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3- First step in accounts cycle starts with (Events analyses) and which depends on the
conceptual framework.
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4- Second step in accounting cycle (Journalizing) is to record the events (transactions) in
a record called General Journal via (double entry system) using documentation
vouchers (1)Cash receipt voucher and (2)cash payment voucher for cash transactions,
and (3)general voucher for accrued transactions
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5- Accounting system have two main type of accounts (Real and Nominal Accounts)
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6- Real accounts are found in (B/S) balance sheet, and nominal accounts are found in

(1/S) Income Statement.
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7- There are only two balances in accounting (Debit and Credit Balance) and all the time
they are balanced.
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8- The main equation of accounting is (Assets = Liabilities + W/E)
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9- All accounts have (T) shape. Lift is for debit entries, and right for credit entries.
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(3) Practical Issues: 4xlaadl cilg) )
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Accounts Normal Balances: 4l cilbilaal) 31a )i
Dr (Debit)

Cr (Credit)

(+) Increases

(-) Decreases

1- Assets accounts (debits) + Dr — Cr

2- Liabilities accounts (credits) + Cr +Dr

3- Owners equity accounts(credit) + Cr — Dr
4- Revenue accounts (credit) + Cr — Dr

5- Expenses accounts (debit) + Dr — Cr

(CR) cash receipt voucher ¢a® siu
(CP) cash payment voucher g si
(GV) General voucher als 18 aiu

How to record an entry in General journal 4 sl sy dlead) Jaaud 4ids
Assume that Mr. (X) decided to form a company on 12/4/2007 with a capital of 300.000
JD and deposited the amount in Arabic bank
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From the above event there are two parties evolved in the event, Mr. (X) capital and Arabic
bank. Note (As per economic entity assumption company is the one who is doing the
business on behalf of Mr. (X), so it will open two accounts for the above transaction and
record it in the general journal)
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Date Account title and explanation ref | Dr Cr
12/4/2007 | Arabic bank CR | 300.000
Mr. (X) Capital 300.000
(Depositing capital in Arabic bank for forming the co.)

Since Bank account is an asset it increases by debit entry we recorded the 300.000 in debit
site of the general journal. Since capital account is owners' equity it increases by credit entry
we recorded in credit 300.000.
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Note: Another fast way to record the entry Jaawdll day pu s A) 48y jha ddiada

Arabic bank 300.000
Mr. (X) Capital 300.000
(Depositing capital in Arabic bank for forming the co.)

Q. No. (1)
On 5/6/2007, Mr. Hassan and Mr. Mahmood decided to form a private hospital, with a
capital of six millions JD shared equally. During the year the following events and
transactions occurred.
1- On 16/6/2007 the hospital received Mr. Mahmood share and deposit it in the Arabic
bank.
2- On 17/6/2007 the hospital received Mr. Hassan share in the following form:
a- Building worth one million JD.
b- X-ray machine worth 500.000 JD.
c- Medicine inventory worth 250.000 JD
d- The balance of his share was received in cash and hospital deposits it in Islamic
bank.
3- On 1/7/2007 the hospital rented an office for 100 JD per month.
4- On 1/8/2007 the hospital paid rent for a year on advance.
5- On 1/9/2007 the hospital purchased medicine inventory worth 60.000 JD from Al
Razy Medicine Company on account.
On 1/9/2007 the hospital appointed the following staff:
a- Medical doctor for monthly salary 1.200 JD
b- X-ray technician for a monthly salary 800 JD
c- 8 nurses for monthly salary 400 JD each
7- On 1/12/2007 the hospital paid the due salaries.
Required:
1. Pass the general journal entries fro the above events and transactions.
2. Post the transactions to the general ledger
3. Extract the trial balance at 31/12/2007
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General Journal

Date

Account title and explanation

ref

Dr

Cr

16/6/2007

Arabic bank A/C
Mr. Mahmood Capital A/C
(Depositing capital in Arabic bank for forming the
Hospital.)

CR

3.000.000

3.000.000

17/6/2007

Building A/C
X-ray A/C
Medicine Inventory A/C
Islamic Bank A/C
Mr. Hassan Capital A/C
(Receiving Mr. Hassan Capital)

GV

1.000.000
500.000
250.000

1.250.000

3.000.000

1/7/2007

Renting the office (no entry) no event

1/8/2007

Rent Exp. A/C
Prepaid Rent A/C
Arabic Bank A/C
(Rent cash payment for one year)

CP

600
600

1200

1/9/2007

Medicine Inventory A/C
A/P (Accounts payable) A/C
Al Razy Co.
(Purchase of inventory on account)

GV

60.000

60.000

1/9/2007

Appointing staff (no entry) no event

30/9/2007

Salary Exp. A/C
Salary payable A/C
(Salary due)

GV

5.200

5.200

31/10/2007

Salary Exp. A/C
Salary payable A/C
(Salary due)

GV

5.200

5.200

30/11/2007

Salary Exp. A/C
Salary payable A/C
(Salary due)

GV

5.200

5.200

1/12/2007

Salary payable A/C
Arabic bank A/C
(cash payment of due salaries

CP

15.600

15.600

31/12/2007

Salary Exp. A/IC
Salary payable A/C
(Salary due)

GV

5.200

5.200

R




Posting to General Ledger

Arabic Bank A/C (A)

Date | Ref. Account Dr Date | Ref. Account Cr
16/6 | CR | Mahmood Capital | 3.000.000) 1/8 | CP Rent Exp. A/C 600
Prepaid Rent A/C 600
Salary payable A/C 15.600
Balance C/D 2.983.200
total 3.000.000 total 3.000.000
31/12 Balance P/D 2.983.200

Mr. Mahmood Capital A/C (O/E)

Date | Ref. Account Dr Date | Ref. Account Cr
16/6 | CR | Arabic Bank A/C | 3.000.000
Balance C/D 3.000.000
total 3.000.000 total 3.000.000
31/12 Balance P/D 3.000.000

Building A/C (A)

Date | Ref. Account Dr Account Cr
17/6 | GV Hassan Capital | 1.000.000
A/C
Balance C/D 1.000.000
total 1.000.000 | total 1.000.000
31/12 Balance P/D 1.000.000

X-rax A/C (A)

Date | Ref. Account Dr Date | Ref. Account Cr
17/6 | GV Hassan Capital 500.000
A/C
Balance C/D 500.000
total 500.000 total 500.000
31/12 Balance P/D 500.000
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Medicine Inventory A/C (A)

Date | Ref. Account Dr Date | Ref. Account Cr
17/6 | GV | Hassan capital A/C | 250.000
1/9 | GV | Accounts Payable 60.000 Balance C/D 310.000
A/C
total 310.000 total 310.000
31/12 Balance P/D 310.000

Islamic Bank A/C (A)

Date | Ref. Account Dr Date | Ref. Account Cr
17/6 | GV Hassan Capital | 1.250.000
A/C
Balance C/D 1.250.000
total 1.250.000 total 1.250.000
31/12 Balance P/D 1.250.000

Mr. Hassan CaEitaI A/C gO/E!

Account Account Cr
17/6 | GV Building A/C 1.000.000
X-ray A/C 500.000
Balance C/D 3.000.000 Medicine Inventory | 250.000
A/C
Islamic Bank A/c | 1.250.000
Total 3.000.000 | total 3.000.000
31/12 Balance P/D 3.000.000

Rent ExE. A/C (E)

Date | Ref. Account Dr Date | Ref. Account Cr
1/8/ | CP | Arabic Bank A/C 600
Balance C/D 600
total 600 total 600
31/12 Balance C/D 600

VY



Prepaid Rent A/C (A)

Date | Ref. Account Dr Date | Ref. Account Cr
1/8 | CP | Arabic Bank A/C 600
Balance C/D 600
total 600 total 600
31/12 Balance C/D 600

Accounts Payable A/C (L)

Date | Ref. Account Dr Date | Ref. Account Cr
1/9 | GV Inventory A/C 60.000
Balance C/D 60.000
total 60.000 total 60.000
31/12 Balance P/D 60.000

Salarz ExE. A/C (E)

: Account Account
30/9 | GV | Salary Payable A/C 5.200
31/10 | GV | Salary Payable A/C 5.200
30/11 | GV | Salary Payable A/C 5.200 Balance C/D 20.800
31/12 | GV | Salary Payable A/C 5.200
total 20.800 | total 20.800
31/12 Balance P/D 20.800

Salarx Paxable A/C (L)

Date | Ref. Account Dr : Account
1/12 | CP | Arabic Bank A/C 15.600f 30/9 | GV Salary exp. A/C 5.200
31/10 | GV Salary exp. A/C 5.200
Balance C/D 5.20030/11 | GV Salary exp. A/C 5.200
31/12 | GV Salary exp. A/C 5.200
total 20.800 total 20.800
31/12 Balance P/D 5.200

)¢



Unadjusted Trial Balance

Account Dr Cr
Arabic Bank A/C (A) 2.983.200
Mr. Mahmood Capital A/C (O/E) 3.000.000
Building A/C (A) 1.000.000
X-ray A/IC (A) 500.000
Medicine Inventory A/C (A) 310.000
Islamic Bank A/C (A) 1.250.000
Mr. Hassan Capital A/C (O/E) 3.000.000
Rent Exp. A/C (E) 600
Prepaid Rent A/C (A) 600
Accounts Payable A/C (L) 60.000
Salary Exp. A/C (E) 20.800
Salary Payable A/C (L) 5.200
Total 6.065.200 | 6.065.200

\o




Adjusting Entries 4 sedl) 358

In order for a hospital (company), to record revenues in the periods in which it earns
them, and to recognize expenses in the period in which it incurs them, hospital makes
adjusting entries at the ending of the accounting period. In short, the adjustment
entries fulfill both, revenue recognition and matching principles.
chiaa Al Gy laadly ol yie W) 5 g LeabasiS) s il 35800 Cla) o) daaas (e (AS il i) oSy S
Grubatl Jrand Ay guiil) 3 98 (L8 JLiaillyg () Aulaall 3 al) d3les 8 Ay guiil) 0 08 Jamy o800l o 85 o3 yidl) (il

Ablaal) g 2l VL Gl e W) sl Jase o) 35

Type of adjusting entries: 4 gedll 348 £1 gl

A- Prepayments ek £ sdiall
1- Prepaid expenses Ledia 4s ghial) Ciy jLaall
2- Unearned revenues 4daiual) & cila) )
B- Accruals (asiwal
1- Accrued revenues ddaiual) cila) )
2- Accrued expenses 4daiwal) ciy juaall

A- Prepayments Ladia & gdaall

1- Prepaid expenses Laia ds ghaall Ciy Laal)

Prepaid expenses mean those expenses that has been paid in cash and recorded as assets

before they are used or consumed.

s gladial dlee alai (8 U alS Leliaasi oy Lgmin a3l Ciy laall @l ind Loaiie Ao gdaall Cay ol

LS

Example of Supplies: ajlsll As Jba

Assume on 1/4/2006 a hospital purchased office supplies for 3000 JD, at 31/12/2006 an

inventory count reveals that 1200 JD of office supplies are still on hand.

Lo Ol Yo e YY) G sedag sl Yoo v dialy i€ o ) o o)y oiditasall a8 Yo 0 U/8/) b adly (2a yidl
(O3l 33 5 sa) Jaxinsi ol o 31510 (e Jlips VY oo e

Journal entry at 1/4/2006
Office supplies A/C 3000
Bank A/C 3000

Adjustment entry at 31/12/2006
Office supplies exp. A/C 1800
Office supplies 1800

Note: the hospital handled office supplies as an asset, at the end of the period (3000-

1200=1800) revels that 1800 was expensed (used) during the year

YA« CJJAULQ_\:\.\(\/\~ =YY eV ')?L‘J‘:"-’L@-‘cﬁﬁ (Jual L@-\L]w\ (—.\)\}m M\ e &ANA
(:\JJ\ dy\;vuzﬁd\ﬂ)maq)\_gd
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Example of Insurance ¢galill Je Jba
Assume on 1/3/2006 the hospital paid 6000 JD for two-years, what is the adjusting entry
should be done at 31/12/2006.

Journal entry at 1/3/2006
Prepaid Insurance A/C 6000
Bank A/C 6000

Adjustment entry at 31/12/2006
Insurance Exp. A/C 2500
Prepaid insurance A/C 2500

Note: the accountant calculated the insurance expenses related to year 2006

(6000*10/24=2500), it means only 10 months are expensed out of 24 months.

e (g yuae fil gl (YE/Y 0T 00 0) Yoo alay alaldl el Gag jae ldialy Caslaal) a6 231 ;483250
o Y e J g dadl il Jual (e ) s

Depreciation of plant assets ALl J gl &ia|
Depreciation is a mean of cost allocation, it is the accounting process of allocating the cost
of tangible assets to expense in a systematic and rational manner to those periods expected to
benefit from the use of the assets.
e Aalaie 4die 4 JDA (e CigpeaeS o galall Jea¥) 4815 o 5 53 A) & (o) AR o3 51l sa ASKEAY)
Sea¥) L adiy () Aad giall i)
Since its not possible to know the market value of the asset during the time we are using it,
and to disclose it in the balance sheet in a reliable and relevance way; the accountant create a
contra asst account called accumulated depreciation A/c, which will be reveled in the
balance sheet, and deducting its balance from the hysterical cost balance of the asset; so we
can drive out the book value of the asset, which can be closer to market or fair value.
caiDla s (355 3 JSn Al jpally dle ~LadD 5 cal Lialaiid JMA (oD 48 o) Al 48 yaa Sl (o ol 431 Ly
da ) (= oda ) (aliyg c&.}l\)yﬂga_ﬁ.@\%gﬂ\ ﬂmy‘bamwudam&;a\ | IVEN ;&w@\ ol
Aol o) (3 gl o ymaad 81 (S5 08 ) By yial) Jaa¥) Aad A8 e (e St el g e HUl) Jaal) A4S Clus
Adalall
Example of depreciation adjusting entry and disclosure zlai¥) s $diay) 4 gus 4d o Jla
Assume a company has X-ray machine (cost 15000 JD), at 31/12/2006 the accountant
decided that 3000 of the cost should be expensed for 2006.

Adjustment entry at 31/12/2006
Depreciation Exp. (X-ray)A/C 3000
Accumulated depreciation (X-ray) A/C 3000

Balance sheet at 31/12/2006

Assets Liabilities
X-ray 15000
Accumulated depreciation (X-ray) (3000)
Book value 12000

AR




Methods of depreciation <3&ay) (§k

The profession requires that the depreciation methods employed should be "systematic and

rational." It means that we must chose that method which work accordance with the type of

use of the asset. We must be neutral.

Al po il Al Agy lall HUss o) casg (o) " ARl g s laElIM Ly d 55 BBA) Ayl sl alla digall
s S Ol gy i) aladial

The main depreciation methods are:
I.  Straight-line method (SLN) <yl Jaudl) 48,
II. Sum-of-the-years'-digits (SYD) aladiwd) &l giw £ gana
I11. Declining-balance method (DDB) u<liiall cisLiaiall Jaudl)

I- Straight-line method (SLN) <ulill Jaudl) 44,
Assume a hospital purchased X-ray machine on 1/1/2002 for cost (C) 10500 JD, its
estimated useful life (L) 5 years, and estimated salvage value (S) 500 JD. The hospital
decided to use SLN in depreciation.

depreciation rate = _ 100%
P = T Life (L)
0,
depreciation rate = % =20%

Depreciation charge = Depreciation rate x Depreciation base
Depreciation charge = Depreciation rate x (cost (c) — Salvage (s))
= 20% x (10500 — 500)

= 20% x 10000

= 2000 JD
OR
depreciation charge = —CL S
10500 - 500

depreciation charge = 5 = 2000

Depreciation table
depreciation  Accumulated  Book
year charges depreciation value

2002 2000 2000 8500
2003 2000 4000 6500
2004 2000 6000 4500
2005 2000 8000 2500
2006 2000 10000 500
10000 (cost — salvage)

Note: At the end of every financial year, the accountant must pass the depreciation
adjustment entry.

Adjustment entry 31/12/2002

Depreciation Exp. (X-ray)A/C 2000
Accumulated depreciation (X-ray) A/C 2000

YA



I1- Sum-of-the-years'-digits (SYD) aladiu) &l siw £ gada
Assume a hospital purchased X-ray machine on 1/1/2002 for cost (C) 10500 JD, its
estimated useful life (L) 5 years, and estimated salvage value (S) 500 JD. The hospital
decided to use SYD in depreciation.
Years digits = 1+2+3+4+5 = 15
(cost - salvage) Remaining life
X Years digits

depreciation charge =

depreciation Accumulated Book
year charges depreciation  value

2002  depreciation charge = 10000 x 155 = 3333 3333 7167
2003  depreciation charge = 10000 x 145 = 2667 6000 4500
2004  depreciation charge = 10000 x 135 = 2000 8000 2500
2005 depreciation charge = 10000 x 125 = 1333 9333 1167
2005 depreciation charge = 10000 x 115 =667 10000 500
10000 (cost — salvage)

I11- Declining-balance method (DDB) yailiiall cislaiall Jaual)
Assume a hospital purchased X-ray machine on 1/1/2002 for cost (C) 10500 JD, its
estimated useful life (L) 5 years, and estimated salvage value (S) 500 JD. The hospital
decided to use DDB in depreciation.
Depreciation rate = SLN rate x 2
V)
depreciation rate = % X 2 =40%
Note: Depreciation base in this method is the cost of the asset.

depreciation Accumulated Book

year charges depreciation value
10500 x 40% _
2002 (4200) = 4200 4200 6300
6300 x40% _
2003 (2520) = 2520 6720 3780
3780 x40% _
2004 (1512) = 1512 8232 2268
2268 x40% =907
2005 (907) 139 1361
2006 1361 861\ 1000 500
10000 (cost — salvage)

Final year dep. = (cost-salvage — acciwqulated depreciation at the end of the year before
last)
= (10500 — 500 —9139) = 861

14



2- Unearned revenues 4daiaal) & cilal )
Unearned revenues means, revenues received in cash and recorded as liabilities before a
company earns them.

il i€ o 8 ol S Ll 1085 AS 3l Lgalia) il bl ) oo Adactiaall e clal oY)
Assume on 1/5/2006 a hospital received 12000 JD cash from Mr. Jihad for twelve months
medical check up fees.

Journal entry at 1/5/2006

Bank A/C 12000
Unearned medical revenue A/C 12000
Adjustment entry at 31/12/2006
Unearned medical revenue A/C 7000
Medical revenue A/C 7000 (7 months revenue)

B- Accruals (aaiual)

1- Accrued revenues 4daiwall cial Y

Accrued revenues mean, revenues earned but not yet received in cash or recorded. Its

known as sales or rendering services on account

Liay) Lgale Cajlaiiall g edaui ad gl ey 1o (ani ad (S0 g LeluiS) a5 i) calal V) el Adaciisal) Cila) oY)
AlaY) cleadll 40l 5 Gl

Assume on 1/9/2006 the hospital treated a patient who is fully insured by the Arabic

insurance company, and billed the insurance company for 2300 JD.

This kind of entry should be recorded, as soon as service is rendered.

Accounts receivable A/C 2300
Medical revenue A/C 2300

2- Accrued expenses Adaliuall Ciy juaall
Accrued expenses mean, expenses incurred but not yet paid in cash or recorded.
s ol g) 1085 @i o (815 il ) Cay jladl) @l iad disiusal) Ciy jlacaal)

Examples:
Salaries due but not paid: adsi al il g dbaieal) il g M)
Assume on 31/12/2006 a salary of 9000 JD is due but not paid.
Salary exp. A/C 9000

Salary payable A/C 9000

Bad debts: 4agall ¢y gl

Assume the account receivable (insurance companies) balance at 31/12/2006 80000 JD, the
hospital as per its experience estimates that 5% of the receivables will not be collectable:
Note: the hospital is estimating the 5% (conservatism), but the actual balance of accounts
receivables will remain the same, and that is why the accountant will create contra asset
account called Allowance for doubtful accounts A/C and revel it in the balance sheet
deducting it from the receivables.



e oLy oidiaall jalig el Av vy &l YTV 8 (el S 55) O sl apia ) gl i)
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Ol
Adjusting entry at 31/12/2006
Bad debts exp. A/C 4000
Allowance for doubtful accounts A/C 4000

Balance sheet at 31/12/2006

Assets Liabilities

Accounts receivables (Ins. Co.) 80000
Allowance for doubtful accounts (4000) 76000

AR




Question J)s«:
Al shifa Hospital started its operation on 1/1/2006; at 31/12/2006 the accountant extracted
the following trial balance:

el daal ) () jae ol = ASul Yo TNY/YY YTV adllee Al T

Account Dr Cr

Arabic bank 220000
A/R Insurance companies 478000
Office supplies 14000
Medicine Inventory 63000
Land 600000
Building 800000
Equipments 500000
A/P External physicians 18000
Capital 2000000
Medical treatment revenues 1500000
Operations revenues 60000
other revenues 78000
Cost of medicine sold 25000
Salary exp. 920000
Rent exp 18000
Elec. & water exp. 5000
other exp 13000

Total 3656000 | 3656000

The accountant noticed the followings:
1- All plant assets were purchased on: (. o) _yidia 43Ul J sea¥) aaen
A- Land on 1/1/2006 Y+ + 1/V/) & o=V
B- Building on 1/6/2006 (SLN will be used in depreciation, Life 20 years, SV was
estimated for 60000)
.ia.uﬁ\ehil..u\e:g.uj-h~~~ :\_“\JJ‘).A:\.A:\;..IJZ_.\MY' JJEAMLQ‘)AQ)Y' NVAVA ‘_go\_):mmifhd\
LeSolia) bl
C- Equipments on 1/3/2006 (SYD will be used in depreciation, life 6 years, and
SV was estimated for 30000)
Al o LgSOUA) s Fo v v v A pn Al Aaill g Ol i N jeadl) Yoo 1F/Y o) e Cilaedll
AR ) gl o gana A8y 5l
On 31/12/2006 actual count of office supplies reveled that an a mount of 7000 is
unused.

N
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The management estimates that 5% of A/R will be uncollectible.
Lelbeant o 3 0 gl (e %0 Gls oY) ja
On 31/12/2006 a salaries of 9000 JD is due but not paid.
BCTOL RIS C PR PRGN CH R P PSP TR VAR A g I
The hospital has only one rented office, which was rented on 1/2/2006 for 2000 JD per
month.
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Prepare the following: (b W Jaxs &8
1- Worksheet. Jasll 43
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2- Adjustment entries. 4 sl 2 o
3- Closing entries. Ju@y) 2 o
4- Financial statements (Income Statement and Balance Sheet). 4l jall 5 J3all 43l

First: we must make the adjustment entries: :4 sl 358 Jas g Y gl

Depreciations: &kaY)

Building (SLN)

800000-60000= 740000/20= 37000
Since purchase date 1/6/2006 (this year) 37000*7/12= 21583
Equipments (SYD)

1+2+3+4+5+6= 21

500000-30000= 470000 *6/21= 134286
Since purchase date 1/3/2006 (this year)
134286 * 10/12= 111905

Depreciation for both assets
21583+111905 = 133488

Depreciation entry at 31/12/2006

Depreciation Exp. A/C 133488
Accumulated Dep. A/C 133488

Office supplies Expenses: 4xiSall a ) sl iy juas

Office supplies Balance 14000

- Actual count at 31/12 (7000)

Office expense: 7000

Office expenses adjustment entry at 31/12/2006

Office Supp. exp. A/C 7000

Office Supplies A/C 7000

B/D Allowance: gz & gSéall ¢ gadl) anada
A/R Balance at 31/12: 478000 * 5/100= 23900
B/D Allowance adjustment entry:
B/D Expenses 23900
Allowance for B/D A/C 23900

Salaries due but not paid adjustment entry: 8aiwal) il g )
Salaries exp. A/C 9000
Salaries Payable A/C 9000

Rent: J2Y)
Rent exp. from 1/2 to 31/12= 2000*11= 22000
Less rent Exp. A/C balance at 31/12  (18000)

Rent payable 4000
Adjustment entry at 31/12
Rent Exp. A/C 4000

Rent payable A/C 4000

Yy



Trial Balance

Adjustments

Adj. Trial balance

Income Summery

Balance sheet

Accounts
Dr Cr Dr Cr Dr Cr Dr Cr Dr Cr
Arabic bank 220000 220000 220000
A/R Insurance companies 478000 478000 478000
Office supplies 14000 7000 7000 7000
Medicine Inventory 63000 63000 63000
Land 600000 600000 600000
Building 800000 800000 800000
Equipments 500000 500000 500000
A/P External physicians 18000 18000 18000
Capital 2000000 2000000 2000000
Medical treatment
revenues 1500000 1500000 1500000
Operations revenues 60000 60000 60000
other revenues 78000 78000 78000
Cost of medicine sold 25000 25000 25000
Salary exp. 920000 9000 929000 929000
Rent exp 18000 4000 22000 22000
Elec. & water exp. 5000 5000 5000
other exp 13000 13000® > 13000® >
Depreciation Exp. 133488 133488 133488
Accumulated
Depreciation 133488 133488 133488
Office supplies Exp 7000 7000 7000
B/D Exp. 23900 23900 23900
Allowance B/D 23900 23900 23900
Salary Payable 9000 9000 9000
Rent payable 4000 4000 4000
1158388 | 1638000
Net Income - Profit 479612 @ 479612
3656000 | 3656000 177388 177388 ] 3826388 | 3826388 | 1638000 | 1638000 | 2668000 | 2668000
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Note: from the above it's noticed :4B3ad ai sde | e ;4diada

1- Adjustments 4 gudll 358

N
1

%

&

'

All adjustments entries placed in the (Adjustments) section in the work sheet (If
there is related account, the adjustment was placed against it in the (Adjustments)
section; otherwise we have t create new account for it.

Liine ol @llia (LS 131) el 438 5 8 iy sil) adaile 8 Lgaia g i Lglae a8 ) 4 gusil) 2 58 psan
el A pusill ua g5 daa ol £ L) 3 Y15 el saatl) dilaie 8 Abilie dads ) A guil) pua g o5 Wil

Adjusted trial balance Juall daal jall ¢l jsa

The new balance after taking the effect of the adjustments against each account at the
trial balance
Jaall ye daal jall () jae 8 clilial) saca )l o ey sail) 580 22 2ey aall 5aa ;Y1 2

Income Summery Jadll gaila

All nominal accounts balances in the adjusted trial balance (in Red) were copied to
Income summery.
J2al gadle ) (LeaVh)damall Al jall o) jae (8 438 5al) Olhliall Baia ) aaes Fod o

Balance Sheet (Final trial balance) (¢t daal sall &l ra) 4l jall

All Real accounts balances in the adjusted trial balance (in blue) were copied to

balance sheet (Final trial balance).

dxal yall ) Jae) Al jaell (A (G VL) arall dxal jall o) e (4 Asal) Slilual) 3aa ) aaes o o
(e

Net Income Jay la

Both sides of debit and credit of the income summery (in Grey) were counted (its
clear that credit side is larger than debit side) then place the difference below the
lower side (in green), and then copy it to the opposite side in the balance sheet. If the
difference is placed in credit side at balance sheet it means its profit, otherwise its
loss.
Oas (Ol e el il culadl gl el gl () (oole 1) il 5 Gpaal) Jaall padde (b ke a3
LS 131 Al saally (uSlaall Ca ydal) aliall G o (e s e VL) J8Y) G dall Can agin (381 aua s A
Bl s Vs )y sed Al aally cilall ailadly (3,4l
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Second: Closing entries: Jusy) a4 Ll

From the income summery section at the above work sheet we can pass the closing

entries (closing nominal accounts) as follow:

(oY) Cllall 3 ) 32 1) BV 258 Jae ankai sMe ) Jandl 438 55 & Jaa)) jadls dihia (4w
;L"Atms

Closing Revenues:

Medical treatment revenues A/C 1500000

Operations revenues A/C 60000

Other revenues A/C 78000

Income Summery A/C 1638000
Closing Expenses:

Income Summery A/C 1158388
Cost of medicine sold 25000
Salary exp. A/C9 29000
Rent exp. A/C 22000
Elec. & water exp. A/C 5000
other exp. A/C 13000
Depreciation Exp. A/C 133488
Office supplies Exp. A/C 7000
B/D Exp. A/IC 23900

Y1



Third: Preparing Income Statement Jaal) daild Jas (Ul

From the income summery section at the work sheet we can prepare the simple income

statement as follow:
AUl JSalL Aasad) Jaal) 4ald slac) aokius Jeall 48 55 & J30l (adle dihie (e

Revenues
Medical treatment revenues 1500000
Operations revenues 60000
Other revenues 78000
Total Revenue 1638000
Less Expenses
Cost of medicine sold 25000
Salary exp. 929000
Rent exp 22000
Elec. & water exp. 5000
other exp 13000
Depreciation Exp. 133488
Office supplies Exp 7000
B/D Exp. 23900 (1158388)

Net Income - Profit 479612

Fourth: Preparing Income Statement 4w jraldus slad)

From the Balance sheet section at the work sheet we can prepare the balance sheet as
follow:

el Ol 4 jeadlalac ) apkaio Jasdl 48 55 8 4 Saal) dihaia (g

Assets Liabilities

Arabic bank 220000 | A/P External physicians 18000
A/R Insurance companies 478000 Salary Payable 9000
- Allowance B/D (23900) 454100| Rent payable 4000
Office supplies 7000
Medicine Inventory 63000
Land 600000
Building 800000 Capital 2000000
Equipments 500000 2006 Net Income 479612 2479612
- Accumulated Depreciation 51334882 1166512

Total Assets 2510612 Liabilities + O/E 2510612
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Question J)s«:
Al Shifa hospital accountant extracted the following trial balance on 31/12/2006:

YUY/ b A daa el o) e ) Al sWBAY i quulan ol

Arabic bank 220.000
A/R Insurance companies 630.000
Allowance B/D 27.000
Office supplies 14.000
Medicine Inventory 63.000
Land 600.000
Building 800.000
Accumulated Dep. (Building) 144.000
Equipments 500.000
Accumulated Dep. (Equipments) 261.905
A/P External physicians 18.000
Capital 2.000.000
Medical treatment revenues 1.219.095
Operations revenues 60.000
other revenues 78.000
Cost of medicine sold 25.000
Salary exp. 920.000
Rent exp 18.000
Elec. & water exp. 5.000
other exp 13.000

The accountant noticed the followings: (b be uulaall ZaY

1-

The management uses SLN method in depreciating the building (salvage value estimated to be
80.000 JD at the end of the building life, purchase date 1/1/2004).
Avyos s o a8 JuaY) s lgiil day B akall A g3 Ad) dcaddll) Aluall eDEA) B ALl Jacdl) 48y yha addiind 3 1Y) )
(Y~ RTAVARABAL &Uu ¢ kad
The management uses SYD method in depreciating equipments (Purchase date: 1/1/2004,
estimated life 6 years, and no salvage value is estimated).
Vg ol gi 1 aBall L pae g ¥ o v €71/ Ll o fr JU0) Cilaaall DA A Guiad) a8 ) £ gana Ay gk addind B laY) - Y
Aag A dad g aag
The management decided to change depreciation method used for X-ray machine (equipment)
worth 16.000 JD to SLN.
Ll Jacdl) A8y ph ) s VT, dledd (Aad) Jlga) Cilaall aa) eUia) A8l s Bl coy B oY
During the year the accountant missed recording a transaction related to a destruction of kidney
wash machine (equipment) in fire and which its insurance settlement amounts 19.000 JD
(destruction date 1/8/2006, and the cost is 40.000 JD).
dale cpalil) 4 gudi caly Al g (AS e L) Cilirall saa) () yialy Aald dgdes Jaad (6 rulaal) JEE) alal) JMA - ¢
(GETIR AP ALdlCig Yo o /A ‘ébﬁa\&ulﬁ)JUeé V4,00
The management and due to insolvency one of its account receivables clients decide to write off
his debts which amounted 25.000 JD.
S Yo, ARl g dnle dBatiaial) dlall alaely ¢y giatall dal Gudl8) Gas B IY) Ciy B -0
The management and according to its experience estimates that 5% of A/R will be uncollectible.
Shiiss Lgluand (Sas Y 38 ¢ ghadall dlsa (e 060 oy )RS Lgdld AL 3 )Y 34 e sl 1

Prepare the following: (- L Jazs a8

5- Worksheet. Jasll 4 5

6- Adjustment entries. 4 gudll 3 58

7- Closing entries. J4Y) 2 5

8- Financial statements (Income Statement and Balance Sheet). 4l juall 5 Jaall 4418
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Adjustments :43 guiill 3548
First of all it's advised to prepare those adjustment related to the problems occurred during
the year, and then prepare the final year adjustments.

) Aled Ay gus 058 Jae ey g Aol OIS ciaa Sl JSLERN 4 guiil) 3 98 Jams Y ) sy
Change of depreciation method: :&tiay) 48, b s
Since hospital change the depreciation method of the x-ray machine (cost 16000, life 6
years) from SYD to SLN, we must calculate the effect and pass adjusting entry as follow:
G ginn & gana A8y Hla e ()i T pand) ) Te v 45EKH) A SV Jlea DA AG Hha e 4 Sl o) La

40 Ay gt 28 Jae 5 Y1 A8 jre and CUlll) ol 43y Hla ) aladiuY)

Year |SYD |SLN Effect
2004 | 4571 | 26667

2005 | 3810 |26667

total |8381 |53334 -44953

Adjustment Entry:

Accumulated depreciation (equipments) A/C
Gain on change depreciation method A/C

Destruction of kidney wash machine: S} ciuaii &) (il

(Cost 40000, life 6 years)

Accumulated depreciation to 31/12/2005

Depreciation of 2004 (40000*6/21) =

Depreciation of 2005 (40000*5/21) =

44963
44963

11429
9524

Accumulated depreciation as on 31/12/2005:
Depreciation for 7 months of 2006:  (40000*4/21*7/12)=
Accumulated depreciation balance:

Adjustemt entries:

Depreciation Exp. (Equipments) A/C 4444
Accumulated depreciation (Equipments) A/C

19000

25397

A/R
Accumulated depreciation (Equipments) A/C

Equipment A/C

Gain on insurance settlement
Write off bad debts of 25000 JD
Allowance B/D A/C 25000

A/R 25000

Forming B/D Allowance 5%:
A/ A/R
Balance 630000
Write off (25000)
Final balance 605000
5% of A/R
(30250 — 2000) = 28250
B/D Exp. A/C
Allowance B/D A/C

Allowance
27000
(25000)
2000
30250

28250
28250

¥4

20953
4444
25397

4444

40000
4397



Depreciation of 2006:
Building depreciation:
Since SLN is used in depreciating buildings it means accumulated depreciation (144000) is
for two years (144000/2) = 72000
Depreciation Exp. Building) 72000
Accumulated Depreciation (Building) 72000

Equipments:

Since the hospital changed depreciation method of (16000 cost) x-ray machine, and ended a
destructed kidney wash machine (cost 40000), we must calculate depreciation for the balance
of the equipments:

Equipments (SYD):

(500000-16000-40000) = 444000

444000*4/21= 84571
Equipments (SLN):
16000/6= 2667
Equipments depreciation 87238
Depreciation Exp. (Equipments) 87238
Accumulated Depreciation (Equipments) 87238

Summery of all adjustments:

Accumulated depreciation (equipments) A/C 44963
Gain on change depreciation method A/C 44963
Depreciation Exp. (Equipments) A/C 4444
Accumulated depreciation (Equipments) A/C 4444
AR 19000
Accumulated depreciation (Equipments) A/C 25397
Equipment A/C 40000
Gain on insurance settlement 4397
Allowance B/D A/C 25000
A/R 25000
B/D Exp. A/C 28250
Allowance B/D A/C 28250
Depreciation Exp. Building) 72000
Accumulated Depreciation (Building) 72000
Depreciation Exp. (Equipments) 87238
Accumulated Depreciation (Equipments) 87238

Note: when you shift an adjustment to work sheet add debits or credits that effecting
same account.



Trial Balance

Adjustments

Adj. Trial balance

Income Summery

Balance sheet

Accounts
Dr Cr Dr Cr Dr Cr Dr Cr Dr Cr
Arabic bank 220.000 220000 220000
A/R Insurance companies 630.000 19000 25000 624000 624000
Allowance B/D 27.000 25000 28250 30250 30250
Office supplies 14.000 14000 14000
Medicine Inventory 63.000 63000 63000
Land 600.000 600000 600000
Building 800.000 800000 800000
Accumulated Dep. (Building) 144.000 72000 216000 216000
Equipments 500.000 40000 460000 460000
Accumulated Dep. (Equipments) 261.905 70360 91682 283227 283227
A/P External physicians 18.000 18000 18000
Capital 2.000.000 2000000 2000000
Medical treatment revenues 1.219.095 1219095 1219095
Operations revenues 60.000 60000 60000
other revenues 78.000 78000 78000
Cost of medicine sold 25.000 25000 25000
Salary exp. 920.000 920000 920000
Rent exp 18.000 18000 18000
Elec. & water exp. 5.000 5000 5000
other exp 13.000 13000 13000
gain on change depreciation method 44963 44963 44963
depreciation exp. (Equipment) 91682 91682 91682
gain on insurance settlement 4397 4397 4397
B/D Exp 28250 28250 28250
depreciation exp (building 72000 72000 72000
1172932 | 1406455

Net Income - Profit 233523 233523

3.808.000 | 3.808.000 | 306292 ] 306292 | 3953932 | 3953932 | 1406455] 1406455 2781000 | 2781000

)




Note: how numbers founded in the above adjustments:

Depreciation Exp. Equipments (Debit side) | 4444+87238 = | 91682

Accumulated dep. Equipments (Debit side) | 44963+25397= | 70360

Accumulated dep. Equipments (Credit side) | 4444+87238 = | 91682
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